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QUESTION 1

Which specification-based technique could be used to enhance coverage for this code fragment?1 credit [K2]
Number of correct answers: 1

A. Boundary value analysis

B. Exploratory testing

C. State transition testing

D. Use case testing

Correct Answer: A

QUESTION 2

Based on the state diagram above, how many invalid test cases could be identified in a state table? 2 credits [K3]
Number of correct answers: 1

A. 10

B. 12

C.14

D. 15

Correct Answer: A

QUESTION 3

If we say that a set of tests has achieved 100% structural decision coverage on a particular module in a
program, what does that mean?

1 credit [K2]

Number of correct answers: 1

A. That all bugs present in that module were necessarily revealed by those tests.

B. That every control flow branch had been executed at least once by those tests.

C. That every dataflow in that module was exercised at least once by those tests.

D. That every path through that module was exercised at least once by those tests.

Correct Answer: B
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QUESTION 4

Which of the following is the best example of a reliability failure for the application? 1 credit [K2] Number of correct
answers: 1

A. Slow response time

B. Excessive memory consumption
C. Random application termination
D. Failure to encrypt data

Correct Answer: C

QUESTION 5

Which of the following is a valid way to calculate the cyclomatic complexity? 1 credit [K2] Number of correct answers: 1
A. Number of decisions + 2

B. Number of enclosed regions - 1

C. Number of statements - 2

D. Links - Nodes + 2

Correct Answer: D
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